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The R.H. Kapadia New High School

Satellite, Ahmedabad. Wi
Lsncmm TERMINAL EXAMINATION
NeeT rear zane0
hemistry(052) Date :13-1.20
am. 0 9.00 am. Type-1 Marks: 80

Instructions:-

(1) There arc 20 MCQs in this question paper.

{2 All questions are compulsory and carry 4 marks cach.

{3 One mark will be deducted for every wrong answer attempted

Choose the correct option and darken it with black pen-in the given
OMR sheet.
1) Match the following A & B and sclec!

the correct answer

A B

1. Heavy Water -~ (M) Bicarbonates of Mg & Ca in water.
2. Temporary hard water (B) No forcign fons in water.

3. Soft water © Do

4, Permanent hard water (D) sulphates & chlorides of

Ca & Mg in Water.
o) 1-C,

-D, 3-B, 4-A \(b}1-B, 2:A, 3-C4-D
() 1-B, 2-D, 3:C, 4-A () 1-C, 2-A 3B, 4-D

2} Metal hydrides are ionic, covalent, or molecular in nature. Among LiH,

Nabl, KH, Rb H, CsH, the correct order of increasing ionic character is

&) Ll > Nalf >CsH > KH > RbH  \bLill < Nall < KH < Rbi < Csil
o RbH > CsH > Nall > KH > Litl d) Nat > Cst > RbH > RbH » Lill > KH
3 When a substance A reacts with water it produces a combustible gas B and

& solution of substance C in water when another substance D reacts with
this solution of C, it also produces the same gas B on warming but can

produce gas B on reaction with dil, H,S0, at room temperature. A imparts a
deep golden yellow colour to a smokeless. flame of Bunsen burner.
A, B, C and D respectively are ?

\a)Na, H,, NaOH, Zn b K. H,, KOH, Al
o Ca, Hy, Ca(OH),, Sn d) CaC,, C,H,, Ca(OH),, Fe
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4 Statement- 1: H,0, has higher boiling point than H.0
Statement - 2 : Tt has stronger dipole-dipole interaction than that shown by
water.
(@) statement- 1 is true, Statement -2 is true,
statement- 2 is a correct explanation for statement ~ 1
{b) statement- 1 is true, Statement -2 is true,
statement- 2 is not a correct explanation for statement - 1
lo)Sfatement- 1 is true, statement -2 is false,
(d) statement- 1 is false, statement -2 is true,

5)  Which of the following pairs of substances on reaction will not evolve

Hy gas?
() Iron and aqueous H2S0s  (b) Iron and Steam
(e Copper and dil. HCI (d) Sodium and Ethyl alcohol,

6 Identify the correct statement.
{a) Gypsum is obtained by heating of plaster of Paris.

(b) Plaster of Paris can be obtained by patial oxidation of Gypsum
(¢ Plaster of Paris can be prepared by hydration of Gypsum
\idi Gypsum contains a lower percentage of calcium than plaster Paris.
7)  Berylium shows diagonal relationship with eluminium which of the

following similarity is incorrect 2
(&) Be Forms beryllates and Al Forms aluminates.
\ [b}-Be(OH), like 41(OH),is basic.
{e) Be fike Alis rendered passive by HNO;
(@) BegC like AIC; yields methane on hydrolysis.

8 The molecule X, contains two ¢ and two 7 bonds and one lone pair of
electrons in valance shell of X. The arrangement of lone pair and bond pair
is
{a) Lincas \(b) Trigonal planar (9 Square pyramidal d) un predictable
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10)

1)

12)

13)

14)

15) Name of the following structure :

Which of the following represents the given mode of hybridisation spi-sp’=
Sp-sp from left to right?

\,M/H,C CH -

CH b) HC=C-C=CH
o H,C=C=C=CH, &) H,C=CH-HC=CH, .
‘Which of the following maximum number of lone pair associated with Xe ?
a) XeF, b) XeF, LefXeF, d) XeO,
The are number of signa and pi-bonds in 1-butene-3-yne are
a) Soand 57 b loand 37 o Scand 25 d) 60 and dx
Which of the following compound is isomeric with 2,244’ - tetra methyl
hexane ?
@) 3- Bhiyl - 2, 2' - dimetyl pentane.

L] 4- iso propyl heptane
) 4-Ethyl - 3- methyl - 4- n ~ propy! octane
d) 4, 4’~di ethyl - 3 methyl heptane
The number of possible open Chain {acyclic] isomer compound formula

CH,y, wouldbe

8 8 b7 o6 a5
IUPAC Name of is
2) o, 0 -di amino-o, o’ - di carboxyl bi phenyl

_ di amino di phenyl -~ 2-2' -di carboxylic acid

¢} di amino dicarboxy bi phenyl

d) none of these

() 3-methyl-4- Ethyl octane
() 6-Butyl-5-cthyl-3-methyl octane
{©) 5,6 - Dithyl-3-methyl octane
\_Idr4- Ethyl - 3 - methyl octane
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16)

17)

18)

19)

20)

A Compound on analysis gave the following C = 54.54%.
Vapour density of the compound 88 amu. Determine the molecular formula. <
of the compound.

a) CHLO, b) GHO, A SCH O, Q) CHO,

Caleulate the volumme of carbon dioxide produced on heating 10 gm of

limestone at ST.P. .

a) 24l ByZ2ale o224 L & 112 L
A solution is prepared by adding § gm of a substance X to 18 gm of water.

Caleulate the mass percentage of water the solute ___.
a) 11.74% b) 16.27% \eh2L.74% 4) 31.74%
1.26 gm of hydrated oxalic acid was dissolved in water to prepare 250ml of

solution. Calculate the molarity of solution.
a) 0.02M b) 0.03M 0AM 13}0.04 M

Bqual volume of N, and H, react to form ammonia under suitable

condition then the limiting regent is .
A, b N, o Ni; d) none of these

09 %. and "=




